better-d-comp-step?®??

VD:Dsys, sched:(Id— (N —(IdLnk+Id)+Unit)), v:(i:Id—M(7).state),
dec:(i,a:1d—M(7).state— (M(7).da(locl(a))+Unit)).
Feasible(D)
= (Vild, £:N.
Js:M(4).state.
s = if t=90— Ax.M(¢).init(z)?v(i,z) else 1of(CV(d-comp(D;v;sched;dec))(t—1,i)) fi
& CV(d-comp(D;v;sched;dec))(t,i) = stutter-state(s) € d-world-state(D;i)
V (Fk:Knd, val:d-decl(D;i) (k).
CV(d-comp(D;v;sched;dec))(t,i)
next-world-state(D;i;s;k;val)
€ d-world-state(D;i)
& isrev(k)
& destination(Ink(k)) = i
& |lqueue(lnk(k);t)||>1
& hd(queue(lnk(k);t))

I;sg(lnk(k);tag(k);val)
€ Msg(Al,tg. M(source(l)).dout(l,tg))
V islocal(k)))
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